Algebra2 Revision Questions 1 November 08, 2012

2. Find the roots of the equation 2{x + 1){x — 4) — (x — 2)? = 0, leaving vour answer

o

Y, [x"—erHX'-ij —-Lx“-‘txﬂ__l“
D= Tx+2x -8 - %" +4x-4 =0
X -2 ~12=0

X=- bt Jbrodac = vt )4 r s

Lo L
> 24ler . 22 - x8R
e 2
AVRDRAT C Roof

3. Find thf values of p for which px? + 2x + 1 = 0 has no solutions.
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4. Show that the roots of the equation x> — (a + d)x + (ad — b*) = 0 are real.

They are real if discriminant is positive
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8. Using the substitution y = 3%, write the equation 3** — 12(3*) + 27 = 0 in terms of y.
Hence solve the equation for x.
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